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OFFICE OF THE COMMISSIONER FOOD SAFETY 

A & N, ADMINISTRATION, PORT BLAIR 

 

Claims & Objections of the candidates against the examination held on 31.08.2023 for posts of Food safety Officer. 

 
 

Sl.  

No. 

Name of the Candidate / 

Hall Ticket No. or Roll 

No. 

Q. Set No. 

Question and Answer Key 
Claims/ Objection Post Review correct Answer 

Remarks  

1 Name: Saikat Paul 

Reg No: 352023001441 

FS02 28  

______________ gave the 

service of dabbawalahs its 

highest quality rating of Sigma.  

(A) The Times of India  

(B) imes Magazine  

(C) Forbes Magazine  

(D) India Today  

Answer: (C) Forbes Magazine 

1. Question number '28' and '35' are 

incomplete and both seem to be a part of a 

passage type question for answering which 

was and the passage necessary missing in 

the exam and also from the answer key. 

None of the alternative is correct. The Question will be 

deleted/not considered 

for assessment and 

hence no marks will be 

awarded 

35  

Dabbawalas work with 

______________  

(A) clarity and speed  

(B) precision and speed  

(C) carefulness and swiftness  

(D) precision and sharp  

Answer: (B) precision and 

speed 

1. Question number '28' and '35' are 

incomplete and both seem to be a part of a 

passage type question for answering which 

was and the passage necessary missing in 

the exam and also from the answer key. 

None of the alternative is correct. The Question will be 

deleted/not considered 

for assessment and 

hence no marks will be 

awarded 
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39  

Why does the poet call the last 

stage to be "second 

childishness" of a person?  

(A) He behaves like a child  

(B) He has to be taken care 

again like a child  

(C) He keeps forgetting 

everything  

(D) He is immature in behavior  

Answer: (B) He has to be taken 

care again like a child 

2. Question number '39' - The poem 

necessary for answering the question is 

missing as it is not possible to answer the 

question without referring to the poem, 

hence the question is incomplete. 

None of the alternative is correct. The Question will be 

deleted/not considered 

for assessment and 

hence no marks will be 

awarded 

40  

Who announced the entry of 

the cobra into the compound?  

(A) Dasa  

(B) The neighbor  

(C) The lady servant  

(D) The cyclist  

Answer: (D) The cyclist 

3. Question number '40' - The question is 

incomplete as the data necessary for 

answering the question is missing. 

None of the alternative is correct. The Question will be 

deleted/not considered 

for assessment and 

hence no marks will be 

awarded 

64  

ISO stands for?  

(A) International standard of 

organization  

(B) Indian stand of 

organization  

(C) International organization 

for standard  

(D) Indian organization of 

standard  

Answer: (C) International 

organization for standard 

4. Question number '64' - The 

question asks for full form of 

'ISO' for which the correct 

Answer is 'International 

Organization For Standardization' and none 

of the options available are correct, hence 

the question is wrong. Refer 

https://www.iso.org/about- us.html 

Alternative “C” is the correct answer Hence the candidates who 

have selected Option “C” 

will get full marks 

 

65  

The full form of NPOP is:  

(A) National Programme for 

Organic Processing  

5. Question number '65'- The question asks 

the full form of 'NPOP' for which the 

correct answer is 'National Production' and 

none of the options available are correct 

Alternative “C” is the correct answer Hence the candidates who 

have selected Option “C” 

will get full marks 

 

https://www.iso.org/about- us.html
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(B) National Programme for 

Organic Products  

(C) National Program for 

Organic Production  

(D) Nodal Program for Organic 

Production  

Answer: (C) National Program 

for Organic Production 

hence the question is wrong. Refer 

Programme for Organic 

https://apeda.gov.in/apedawe 

bsite/Announcements/NPOP T raining 

Manual English E_Boo k.pdf 

2 Name: Meharoz Ali 

Reg No: 352023001681 

FS01 10  

Which famous singer is 

awarded with Bharat Ratna 

award in the year 2019?  

(A) Manna Dey  

(B) Bhupen Hazarika  

(C) Asha Bhosle  

(D) Lata Mangeshkar  

Answer: (A) Manna Dey 

Question No. 10 

Famous singer is 

Which awarded with Bharat Ratna in 

the year 2019? 

(A) Manna Dey  

(B) Bhupen Hazarika 

(C) Asha Bhosla 

(D) Lata Mageshkar 

Answer: (A) Manna Dey (As per answer 

key uploaded) 

Objection: In 2019 Bharat Ratna Awarded 

to famous singer Hazarikaalong Bhupen 

was with Shri, Pranab Mukherjee and 

Nanaji 

Deshmukh. Hence the correct answer 

Option (B) Bhupen Hazarika, so it is 

requested to kindly revise 

The answer key.Ref 

https://www.newindianexpress.com/galleri

es/nation/2019/au g/08/in-photos--bharat-

ratna- 2019-award-winners-102458.html 

Alternative “B” is the correct answer Hence the candidates who 

have selected Option “B” 

will get full marks 
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  42  

(112x54)=?  

(A) 67000  

(B) 70000  

(C) 76500  

(D) 77200  

Answer: (B) 70000 

42  

(112x54)=?  

(A) 67000  

(B) 70000  

(C) 76500  

(D) 77200  

Answer: (B) 70000  

 

Objection: 

Multiplication of 

Above per numbers is 6048. As 

answer Key released it is shown as 70000 

which is 

incorrect. Hence the Correct answer not 

given in the option provided, therefore the 

question may bedropped. 

None of the alternative is correct. The Question will be 

deleted/not considered 

for assessment and 

hence no marks will be 

awarded 

3 Name: Sai Kishore Nayani 

Reg No: 352023005739 

FS01 44  

"How many of the following 

numbers are divisible by 132?  

264, 396, 462, 792, 968, 2178, 

5184, 6336"  

(A) 4  

(B) 5  

(C) 6  

(D) 7  

Answer: (A) 2 

Q.NO.(44) The given Answer 

 

Option (A) is correct, but the value is given 

as 2 which is wrong/typing error and the 

actual value is 4 as given in the Question 

Paper for Option A. 

Alternative “A – (4)” is the correct 

answer 
Hence the candidates who 

have selected Option “A – 

(4)” will get full marks 

74  

Which of the following 

statement with respect to food 

preservation is true?  

(A) leafy vegetables perish fast 

due to their high moisture 

content  

Q.NO.(74) Only Option (A) 

"leafy vegetables perish fast due to their 

high moisture content" is TRUE with 

respect to FOOD PRESERVATION the 

question. as asked in 

Option (B) "cereals have the highest 

requirements of moisture and soil types"- 

OPTION B Describes the moisture or water 

Alternative “A” is the correct answer Hence the candidates who 

have selected Option “A” 

will get full marks 
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(B) cereals have the highest 

requirements of moisture and 

soil types  

(C) cereal can be grown with 

less labour and yield of food is 

high  

(D) all of the mentioned  

 

Answer: (D) all of the 

mentioned 

requirements & soil types required for the 

production/ Growing of Cereals in 

Agricultural fields. 

Option (C) "cereal can be grown with less 

labour and yield of food is high" OPTION 

C - Describes the labour requirement & 

yield of Cereals. 

Both Option B & C are given in terms of 

agricultural field level scenario where 

production, labour, water requirement for 

plants & soil are discussed which are not 

related to Food Preservation. 

Food Preservation techniques are 

used/applied only after harvesting and not 

before harvesting of cereals from plants. 

Hence, the given Option (D) All of the 

Mentioned is Wrong and Option (A) is the 

right Answer 

77 Which of the following 

holds untrue with respect to 

jam making?  

(A) boiling water to 

concentrate the mixture is an 

important step  

(B) the fruit is heated to soften 

it, extract pectin and then 

boiled rapidly to increase sugar 

content  

to about 70%  

(C) high methoxyl pectin is 

used in jam and low methoxyl 

in gelling agents in milk 

products  

(D) none   

Q.NO.(77) In Option A "boiling water to 

concentrate the mixture is an important 

step" - there is an error in this Sentence 

formation and meaning which is misleading 

the actual answer. Boiling plain Water 

Doesn't Concentrate the Mixture in any 

way. Hence, Option A is also Untrue. 

Boiling the Mixture / Fruit Pulp Will 

Concentrate the mixture in Jam making. 

This should be the actual sentence. Hence, 

Option (A) is also correct with respect to 

the given options. 

Alternative “D” is the correct answer Hence the candidates who 

have selected Option “D” 

will get full marks 



Page 6 of 9 
 

Answer: (D) none 

79  

A substance intentionally 

added that affects the nature 

and quality of food is called    

(A) food poison  

(B) food adulterant  

(C) food contaminant  

(D) food material  

 

Answer: (D) food material 

Q.NO.(79) Question- A 

substance intentionally added that affects 

the nature and quality of food is called? 

Here, the question is asked in a generalized 

manner which doesn't clearly state whether 

the Substances Added Affects the Nature & 

Quality of food in a Positive or Negative 

Manner. 

Option (B) FOOD ADULTERANT- is also 

a substance intentionally added that affects 

the nature and quality of food. Hence, 

Option (B) FOOD ADULTERANT is also 

a Right Answer for the given question. 

Alternative “B” is the correct answer Hence the candidates who 

have selected Option “B” 

will get full marks 

89  

This food group is our body's 

best source of energy?  

(A) Meat Group  

(B) Fats, Oils and Sweets  

(C) Breads and Cereals  

(D) Milk and Cheese  

 

Answer: (C) Breads and 

Cereals 

Q.NO.(89) Question- This food group is 

our body's best source of energy? 

 

Though the given answer option (C) Breads 

and Cereals which are rich in 

Carbohydrates are the primary source of 

energy for our body, But the Best and 

Highest Source of Energy obtained from 

the given options is not (C) Breads and 

Cereals. 

Energy is always Calculated and Measured 

in terms of CALORIFIC 

VALUE. Option (C) 

Breads and Cereals rich in Carbohydrates 

Provide 4 Calories per gram whereas 

Option (B) Fats, Oils and Sweets, Fats 

provide 9 Calories per gram & Sweets ( 

Sucrose) provide 4 Calories per gram 

Alternative “C” is the correct answer Hence the candidates who 

have selected Option “C” 

will get full marks 
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which is more than double calories when 

compared to Option (C) Breads and 

Cereals. 

Hence, Option (B) Fats, Oils and Sweets is 

also Technically Correct Answer as it 

provides the Highest Source of Energy 

among the given options. 

106  

The two factors determining 

'Food Security' in India are:  

(A) green revolution and 

reduced wastage of food  

(B) production of sufficient 

food and nutritional value of 

food  

(C) sustainable agriculture and 

minimal use of agrochemicals  

(D) availability of food and 

access to money  

 

Answer: (D) availability of 

food and access to money 

Q.NO.(106) Definition as per Govt. of 

INDIA FOOD SECURITY means 

Availability, Accessibility and 

Affordability of food to all people at all 

times.The given Answer Option (D) 

"availability of food and access to money" 

is partially correct. Access to MONEY 

doesn't Guarantee FOOD. Availability of 

Food depends on Agricultural Farming 

techniques, Inputs given, seed varieties, 

soil, water availability, Climatic 

Conditions, Natural Disasters effect on 

crops etc.From the start of Green  

Revolution in the year 1965, 

Extensive & Excessive usage of 

Pesticides, Chemical Fertilizers which 

degraded soil health & reduced production, 

increased pests and diseases & Human 

Health damage. Along with the arrival of 

HYBRID HIGH which led to extinction of 

NATIVE Varieties. 

YIELDING SEED varieties 

Now, Government of India & 

ORGANIC even FSSAI, FAO are 

Promoting FARMING, Sustainable 

Agriculture and minimal use of 

Agrochemicals which is necessary for the 

future of mankind & INDIA for its growing 

population needs & to maintain Food 

Alternative “D” is the correct answer Hence the candidates who 

have selected Option “D” 

will get full marks 
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Security of our Nation in future.Hence, 

Option (C) sustainable agriculture and 

minimal use of agrochemicals is also right 

answer. 

113  

Which of the following 

statements are true regarding 

botulinal toxin 

(A) is a neurotoxin  

(B) water soluble exotoxin  

(C) is produced by Clostridium 

botulinum, a gram positive 

anaerobic bacteria  

(D) all of these  

Answer: (C) is produced by 

Clostridium botulinum, a gram 

positive anaerobic bacteria 

Q.NO.(113) 

Which of the following statements are true 

regarding botulinal toxin? 

(A) is a neurotoxin 

(B) water soluble exotoxin 

(C) is produced by Clostridium botulinum, 

a gram-positive anaerobic bacterium 

(D) all of these 

With respect to Question no- 113, All the 

Options A, B, C are TRUE regarding 

Botulinal Toxin. 

Hence, the Correct Answer Should Be 

(D) All of These 

Alternative “D” is the correct answer Hence the candidates who 

have selected Option “D” 

will get full marks 

4 Name: Shivam Kumar 

Reg No: 352023007158 

FS01 65  

FSSAI’s mobile units for food 

testing called ‘Food Safety on 

Wheels’ contain facilities for  

detecting adulteration and 

rapid testing tools for food 

items that are commonly 

consumed,  

such as:  

(A) spices  

(B) coffee  

(C) vegetables  

(D) packaged drinking water  

Answer: (D) packaged 

drinking water 

Q. No. 65 has wrong options, multiple 

answers are correct for this question. option 

A&D is correct supporting documents 

proof link: 

 

https://www.fssai.gov.in/cms/ mobile-

labs.php 

Alternative “D” is the correct answer Hence the candidates who 

have selected Option “D” 

will get full marks 
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79  

A substance intentionally 

added that affects the nature 

and quality of food is called    

(A) food poison  

(B) food adulterant  

(C) food contaminant  

(D) food material  

Answer: (D) food material 

Q. No. 79. Correct answer is option C, food 

adulterant. 

supporting document is attached fssai 

image of " PROJECT REPORT ON 

"TRENDS OF FOOD ADULTERATION 

IN INDIA AND ITS REMEDIES page No. 

5" first paragraph. link for the data: 

https://www.fssai.gov.in/uploa 

d/uploadfiles/files/Report_Intern 

Anusree 04_10_2019.pdf 

Alternative “B” is the correct answer Hence the candidates who 

have selected Option “B” 

will get full marks 

5 Name: Aruna V 

Reg No: 352023006849 

FS01 42  

(112x54)=?  

(A) 67000  

(B) 70000  

(C) 76500  

(D) 77200  

 

Answer: (B) 70000 

Question number 42:- 

(112x54)=?  

(A) 67000 

(B)70000  

(C) 76500  

(D) 77200 

Answer: (B) 70000. 

Here the question says (112 X 54), wherein 

the number '4' is placed beside 5 making it 

appear like number 54, whereas it is 

supposed to be "54" (5 raised to the power 

4) to yield an answer 70000, according to 

the answer key provided, which is a 

typographical error. Even if we calculate 

(112x 54), the answer is supposed to be 

6048 which matches none of 

the given options. 

None of the alternative is correct. The Question will be 

deleted/not considered 

for assessment and 

hence no marks will be 

awarded 

 


